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ECONOMICS

( Honours Core )

Paper : ECO-HC-6026
( Development Economics—II )
Full Marks : 80
Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following questions : 1x10=10
o] 2pTYRd Ted i

(a) Define fertility rate.
TSl 299 g o o

(b) What is microfinance?
Puie 347 2
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(2)

Mention one impact of land-tenure
system.

Sfi-7g IREA <01 2fS1a TEd 41 |

Point out one common deficiency
involving in governance.

W qEEe (Al TR @b TR @ SeEd
40

What is rural-urban migration?

2T - e 2w Jferee 6 @2

Point out one social challenge arising
from globalisation in India.

SRee ARFR FOe T84 (@El 9ol ANIEE
AGZ TCEd F41 |

In which year was the Rio Summit held?
&’ Sl W vTe SRS CafRE 2

Define individual behaviour in social
environment.

AfE e Afe SwaerE s fFm |

( Continued )
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2. Answer the following questions :

(3)

Mention one contribution of agriculture
to the process of economic development.

Getafes Tagw Afers $iq «@b sz Sy
Lol

Write one cause of gender inequality in
a family.

b1~/ fooTe forel (e b1 R o |

o epTRd Ted fa

(@)

(b)

(c)
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Define globalisation.
s izt i)

What is the relationship between the
age structure of a population and its
dependency ratio?

GPRAE TR SN o FSIerer Sered
qES AT ToFH] 2

What are the types of environmental
externalities?

e ARFeR doRER F &F2
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(d) Why is sustainability of renewable
resources important?

RPN T IR 5 gy 2

(e) What is landlord-tenant relationship?
Pi-=ifS S ] TofeH {5 2

Answer any four from the following
questions : 5x4=20

To SPPTYRA R GHIET BifReR Seq fan

(a) Explain the role of agriculture in
economic development.

SeftAfos Saere i S amm < |

(b) Write a note on credit market in
agrarian society.

PRE TGS 41 T @19 < B oiwy |

(c) Explain the distinction between

community governance and corporate
governance.

Wwwﬁmwmﬁnwmw
41 |

( Continued )
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(d) Briefly discuss the major eras of
globalisation in the last 150 years.

@@l Seo ITIS AT 24 IR0 HAF
SIS <541 |

(e) Explain the factors which influence
individual behaviour in an organisation.
RIS GG ABITE 2fSTIS T FRPITIR 1T
41 |

(/ What is ffertility gap’? Explain the
fertility gap in terms of Leibenstein
theory of population.

Tl ¥ 97 GREER SRl 99l

GRAce ST FFT YIEECH! 9 41 |

Answer the following questions : 10x4=40

SR 2RPTRA Oed fdl :

(a) Discuss the functioning of labour
market in agrarian society. 10
RGN FEe AT IGRT IS A
41 |

Or / 941
Explain the demographic transition
during the process of development. 10
S AR TRRES SRS AR
R DA 341 |
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(b)

(c)
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Examine Hirschman’s exit, voice,
loyality theory as a response to
organisational inefficiency. 10
BROGER  oFm, I AFE AP OG0l
oot SrFer 2ifSfmm B R0 341 |

Or / 71

Discuss the impact of globalisation on
developing countries in terms of
international finance. 10

EEfes [Rad afare Sqaeme oo e
S ST T4 |

What is governance? Discuss the main
instruments to ensure successful
governance of an organisation. 2+8=10
P I (I ? TR0 @b HEA T el

T4 SRACAA ST B4 |

Or/ «eql

Critically discuss the various land
reform measures adopted in many
developing countries. 10

ffen Tmerm orrs s21e @t ffen B R
TEEPTZ, AL FRPIA ST 1 |
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(d)
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In what way common property resource
theory provides a useful framework
for analysing environmental issues?
Explain. 10

YRS FeefE WM wiﬁﬁ;‘]@ “{fqsre

TEIER Rewd 9o w96 oEEan
FHorT AN I, I F40 1

Or / «gd1
Write short notes on : 5+5=10
12 CBFFT fora
(i) Nutrition and labour productivity
2 1% W TeAEeTe!
(i) Economic activity and climate
change
ST PR O Terry ~AfEe
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